Homework 2

1. In the twin-tree economy, the production and consumption of apples and oranges are as

follows,
Year Apple Orange
Production | Consumption | Production | Consumption
2016 25 20 15 12
2015 20 15 10 8

market prices for apples and oranges are:

Note that the differences between “Production” and “Consumption” are exported. And the

Year Apple Orange
2016 6 3
2015 5 2

(1) Compute the real GDP growth of the economy using prices in 2015. And compute the
real GDP growth using prices in 2016.

(2) Compute the CPI for 2016 using 2015 as the base year (let the CPI of 2015 be 100).

(3) Compute the GDP deflator for 2016, using the 2015 price (let the GDP deflator of 2015

be 100).
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